
‘To the left to the left gets bigger’ 

‘To the right to the right gets smaller’ 

Multiplying by 10 Dividing by 10 
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8 x 10 =          8 ÷ 10 = 

Remember that if you are multiplying and want the number to be bigger 
move to the left. 

Remember that if you are dividing and you want the number to be smaller 
move to the right 

 

The number of zeros tells you how many place value columns to move. 

E.g. 10 = 1 column   100 = 2 columns   1000 = 3 columns  

 

Don’t forget your place value holders!!! 


